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Unit 2A Exam Review - Quadratic Equations

Multiple Choice -Identify the choice that best completes the statement or answers the question. Make sure 1o show ALL
work to receive full credit.
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5. The graph below shows the function f{x).

Which graph represents the function f{x +2)?
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6. What is the result when 4x” — 17x + 36 is subtracted

ID: A

from?_x —5x +257 l 2 5))(+7_5
—22x+6 \ 3

b 2x2-—12x+16 7)0(3['.:

c, ~2x2—22x+613--__-——:-—"———'_—__——-—"
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7. When factored completely, x> — 13x* —30x is W'

a. x(x+3)(x-10)
b xx-3)x-10) (oCF . Kd& W\"\
c) x(x+2)(x-15)

4 x(x—2)(x+15) X(Xl \%K 3(;)
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Short Answer- Show ALL work to receive full eredit,
8. What are the domuin and the range of the function [0, . Find a rule for a quadratic function that opens up

shown in the graph below? and has x-intercepts of (<3, (,) and (5, 0).
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b. Without using your calculator, find the
coordinates of the minimum point of the graph of

your function in Part a. ‘ C \ i'B
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9. 11. What is the vertex of the graph of the equation

N
y=3x2+ 6x + 12 3 >'7. ( | }Bdepeg\r}\/\aﬂjﬁ(}ed
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b. Find the y- mterccpt of the graph of j(x)
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\/6”(, )( - \ ) J) 12. Write a rule-for a quadratic function with a graph
that has x-intercepts (2, 0) and (-6, 0) and a

maximum point of (-2, 4)
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13, Write a rule 1| a quadratic function with a graph 14, a. Complete the square for the function

t! 1ll as x-intereepts (=2, 0) and (8, 0) and 2 =12x +4 =0,
intercept (0, 8).

& A (%) (X% 29> 12 -4
gealon ) o8 2= b xx ) = -4
Z= () () e

\ > ’*l"{
= o -116) r(b’r
e (5= u -3

—lb

— ] & b. What is the vertex of the quadratic function?
Explain your reasoning.

15. Rewrite each of these quadratic expressions in an equivalent factored form.

W) [3xR)(3%19)

c. 28x% +4x d. x* - 18x + 81
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16. Rewrite each sum or difference in standard polynomial form.

a (5 + 3t =)+ (v =3+ 10)
e
XH +5x2% b \

b. (15=3x" +4x) - (52> +8)

17. Rewrite each of these quadratic expressions in equivalent standard form.

a. (x - 8)(x +8) b. (2x + 7)(x + 3)
Lﬁﬂjﬁi[ QZXEHBK+LJ3
c. (x +3)? d. (- 4)x+11) '

Lf'rbeﬂ IEZF%ESJI]

Descn be the transformations occurring from the parent function y = x? to each of the following functions.

a. y=x+2? b. y=. 3
18CF 9 Vit —r&”lfcﬁr Oty T X4,
ek 2wl - vrhcay streteh o &

c. y=(x+27°-3 d. y_—(x+2)’*+1
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